EEAXFREBARZERL - Pt
BN ERESNE 4

b4

@ HEARKSHEM

Fp e ae eV 2 <l



FZERERBEARERAEL. HEILE
1R = 4 A

E % ki
SlEg KM EER

FE AR K Rk



BPERRB (C1p) BB

SEHAERIENR LR E N \X&,ﬁiﬂuz\% CERGREA M/ EREESE .
Aor . lg AR K2R, 2001

ISBN 7-300-03649-X/H- 284
1.4

L. E-

. 3&E m SR AFERL- 8
IV. H310.42

o R A B B CIP BB E T (2001) 8 19210 5

SEAPRINRERES LTS
wpLAES B T
* &% Ty T
BlES FEm TEE

AR R o A Rl R -
(Atmth kA 319 BR4 100080)
BRI E% 62515351 (17 ¥5:62514148
MR 62511242 HiREH 62511239
E-mail: tendafx@ public3 . bta. net. cn

% B.FEBE

21} W« =2 5] i 37 bt 4 ELRR )

FEA . 890 X 1240 2K 1/32 EQ3K.12.125
200145 A 1M 2001465 HE 1 KR
FH: 346 000

EMr.17.00 7T
(P45 HBLER e I, At 67 32 R #8)



PR V.2N

Hl

n\\\l

RERGEBRRMMKFRERFRAFRT hKFHE AR
WA, 2HHJERRENRE 1246, VT EEAR, £#7., &
WEFTERHRAREWBEES RER, UEFERGERALE T
MEFRE R, BEMRHT, HEMREO AHXMAEER
HREER, WEHYELERISK, RENRES,

AHERTLRFSHETRENL, BFDREHN (REREF
EXH) DR AKEENNECHT, REFHH, Eob LA,
TR, KPFAR, AFREHR, Fi&, TROTAET
ZzH, BREEHHTEE!

mE

2001 %4 A



=i

%lu

Model TESt l cetessecste st st et et et oee sas srsoas aus (1)
Model Test 2 veveeeensmeeeenmarenninesceimmnnesecanninienenanes (20)
Model Test 3 P O TR TR L E R R I T aPP PE (40)
Model Test 4  wrveertermreter ottt it e e tena e (60)
Model TeSt 5 ..A-..-.......-........................................... (79)
Model Test 6  re-verermreereersmmumeecniannmeereinnnnecneneseees (98)
Model Test '7 I T S P LT R (117)
Model Test 8 -+ reerereeremrmneeemienniineeieriessnneneeneeenes (136)
Model Test 9 B R T T TR T R T T R T (156)
Model Test 10 wreerrerreereeremmneieremeienrereciinensieeneeeenenne (175)
Model TeSt 11 I S T O I Y (194)
Model Test 12 +rerrevereeees . - (213)
AR R HEB 4 IR SC(Typescnpt in the Model Tests) -+~ -

Model Test 1 «osveevenerrmraseroienieiisiiiaieeiieeeees (232)
Model Test 2w+ eereressensrmmisii e (236)
Model Test 3 +reertrrrereeeesrantaioniiiuinittnteataoteiananceiies (239)
Model Test 4 +coveecmremecnraimiiiienoiiiiieinnieeecssanaens (243)
Model Test § +veeetenrerrecerraetaeiiaiiieirienmtiieiiosanae, (247)
Model Test 6 coverreersrrrmreminiiemieniiinnnnns (251)
Model Test 7 rveerreesrnrmearntioneieiiiiiieiiieeceenneee e (255)
Model Test 8 ++eerreeseirreamumiineieisiieiiiiiieenans (250)
Model Test O ++rverereterrrermeeniiemieniaieieiiiiiiienrannieenees (263)
Model Test 10 ceeecerersrrorsvermnsisainonaieaes (266)
Model Test 11 cerererererrermmreiamiemiierineeean (270)



Model Test 12

AREIAEERRER -

BEABL BRI 2 520 e vvemr ven s emn ene e meeeee e et
BP0 JE BB oo e ermme cn rer e s e e
Ry R R~
PRy R ol I 3 > SRR
kB o P P
BEADIR BT 4 JERR v vvvveoormrereseer o taeae et eeee e e e e
}ﬁwﬁﬁs %%
R Rr N G o - RO O
BEADIIRET 6 ZEEE o vvvem e ereee s e ettt e e
BRI 6 JERR -+ veeeemveroeeeer mermnr e e e e e see e e
BERUE I 7 TEEE - cveeever oo en srrmre s ree it e s
BRI 8 58 we vvrvemernern et orenaes ees i aes e see e e
BEALRIT 8 JERR v vvvomeos eorere somnemnsee et e et e e
g@ﬂiﬁggﬁg)tf¥§...n.".”.”.".”.n.“.“.”.n.“.“.n.“.“.“
LR 5 “)EE*§ PR NS
BRI 11 LB cervervee e s e

- (274)
- (280)
- (280)

(280)

- (289)

(289)
(297)
(298)
(306)
(307)
(315)
(315)
(323)
(324)

reere (332)

(332)

- (340)

(341)

e (349)

(349)

R (357)

(357)

e (365)

(366)

e (374)

(374)



PN 8 (Model Tests)

Model Test 1

Part [ Listening Comprehension
(20 minutes)

Section A

Directions: In this section you will hear 10 short conversations. At the
end of each conversation, a question will be asked about what was
said. Both the conversation and the question will be spoken only once.
After each question there will be a pause. During the pause, you must
read the four suggested answers marked A, B, C and D, and decide
which is the best answer. Then mark the corresponding letter on the
Answer Sheet with a single line through the center.
Example: You will hear:
You will read: A. 2 hours. B. 3 hours.

C. 4 hours. D. 5 hours.
From the conversation we know that the two are talking about some
work they will start at 9 o’clock in the morning and have to finish at 2
in the afternoon. Therefore, D “S hours” is the correct answer. You
should choose [ D] on the Answer Sheet and mark it with a single line
through the center.
Sample Answer: [A] [B] [C] DT

1. A. Peter really needs a full-time job.
B. Peter already has a job working for the school.
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Peter needs to spend his time studying.

Peter should think about becoming a teacher.

. The suggestion looks better than it is.

The phone connection was bad.

The men ought to speak to each other.

. It’s better to be courageous.

. She’s tired. B. She’s generous.

She’s lucky. D. She's intelligent.

. In the library.

In a bookstore.

At a newsstand.

. At a department store.

. The woman has ten minutes to get to the hotel.

The woman will arrive at the hotel only ten minutes late.
The man thinks he will be able to reach the hotel in ten

minutes.

. The man thinks he will not be able to drive quickly to the

hotel.

. She doesn’t like messy people.

She sees no need to clean the dorm.

She doesn’t like messy dorm.

. She can think of no worse time for their friends to come.

. To avoid tripping on the carpet.

To keep her feet comfortable.

To protect her carpet.

. To keep her shoes from wearing out.

. Tom doesn’t have much money.

Tom will never apply for a scholarship.

. Tom is a spendthrift.
. Tom doesn’t need a scholarship.

. He should ask Joe to call the secretary.



B. There’s not enough time to phone Joe.
C. He shouldn’t use the secretary’s phone.
D. The secretary will leave before he does.
10. A. She has done enough work.
B. She tried to scratch the surface.
C. What she did is far from enough.
D. Her project is the hardest of all.

Section B

Directions: In this section, you will hear 3 short passages. At the end
of each passage, you will hear some questions. Both the passage and
the questions will be spoken only once. After you hear a question, you
must choose the best answer from the four choices marked A, B, C
and D. Then mark the corresponding letter on the Answer Sheet with
a single line through the center.
Passage 1
Questions L1 to 13 are based on the passage you have just heard.

11. Building muscle forms.
Making a plaster shell.
Taking measurements of the animal.
Pulling the skin over the shell.
12. Objects such as meteorites.
Large animals.
Creature too small to be seen.
Creatures of the sea.
13. Constructing an Animal Subject.
Problems of Exhibiting Natural History.
Natural History.

Building a Museum Exhibit.
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Passage 2

Questions 14 to 16 are based on the passage you have just heard.

14. A.

15.

16.

Sox PO OFEPOOR

Passage 3

Athletics.

Everyday activities.

. Prize fights.
. Circus scenes.

. Vitality.

Bright colors.

Extreme realism.

. Satirical techniques.

. It was perfect.

The punch wouldn’t work.

. It lacked artistic merit.

. Bellows didn’t know very much about the art of boxing.

Questions 17 to 20 are based on the passage you have just heard.

17. A.
B.
C.
D.
18. A
B.
C.
D
19. A
B.
C
D.
20. A.

Because they cared little about philosophy.
Because they applied their knowledge.

Because they saw the necessity for developing theoretical

sciences.

Because they studied the past and learned from it.

. Because the Greeks had superior weapons.

Because the Romans were involved in frequent wars.
Because the Romans were not familiar with many types of

weapons.

. Because the Greeks proved themselves inspired inventors.

. Romans’ desire to expand their empire.

Rigidity of the Romans’ numerical system.

. Romans’ lack of interest in abstract ideas.

Both A and B.

Discouraged the study of mathematics.



B. Was too flexible.

C. Differed radically from that of the Greeks.
D. Was limited in scope.

Part | Reading Comprehension
(35 minutes)

Directions: There are 4 reading passages in this part. Each passage is
followed by some questions or unfinished statements. For each of them
there are four choices marked A, B, C and D. You should decide on
the best choice and mark the corresponding letter on the Answer Sheet
with a single line through the centre.

Passage 1

Questions 21 to 25 are based on the following passage:

When some nineteenth-century New Yorkers said “Harlem”, they
meant almost all of Manhattan above Eighty-sixth Street. Toward the
end of the century, however, a group of citizens in the upper Manhat-
tar—wanted, perhaps, to shape a closer and more precise sense of
community—designated a section that they wished to have known as
Harlem. The chosen area was the Harlem to which Blacks were mov-
ing in the first decades of the new century as they left their old settle-
ments on the middle and lower blocks of the-West Side.

As the community became predominantly Black, the very word
“Harlem” seemed to lose its old meaning. At times, it was easy to for-
get that “Harlem” was originally the Dutch name “Harlem”; that the
community it described had been founded by people from Holland; and
that for most of its three centuries—it was first settled in the 1600s—
it had been occupied by the White New Yorkers. “Harlem” became
synonymous with Black life and Black style in Manhattan. Blacks liv-

ing there used the word as though they had coined it themselves—not
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only to designate their area of residence but to express their sense of
the various qualities of its life and atmosphere. As the years passed,
“Harlem” assumed an even larger meaning. In the words of Adam
Clayton Powell, Sr., the pastor of the Abyssinian Baptist Church,
Harlem “became the symbol of liberty and the Promised Land to Ne-
groes everywhere” .

By 1919 Harlem'’s population had grown by several thousand. It
had received its share of wartime migration from the South, the
Caribbean, and parts of colonial Africa. Some of the new arrivals
merely lived in Harlem: it was New York that they had come to, look-
ing for jobs and for all the other legendary opportunities of life city. To
others who migrated to Harlem, New York was merely the city in

which they found themselves: Harlem was exactly where they wished
to be.

21. What does the passage mainly discuss?
A. The origin of the word “Harlem” .
B. Migration during the First World War.
C. The history of Black Harlem.
D. Manhattan’s diverse neighborhoods.
22. In the second paragraph, the author says that Harlem Blacks used

the word “Harlem” “as though they had coined it themselves” to
mean that they

A. had invested much money in the area
B. had learned some Dutch terms from the earlier immigrants
C. intended to establish more local financial institutions
D. felt completely at home there
23. Which of the following areas is NOT mentioned in the pas-
sage as a source of Black migration to Harlem?
A. The Caribbean.
B. Holland.



C. Lower Manhattan.
D. The southern part of the United States.
24. The passage supports which of the following conclusions?

A. Blacks had a strong sense of pride in Harlem.

B. The Dutch had no influence on Harlem’s history.

C. Harlem was the first Black settlement in Manhattan.

D. Harlem did not become a part of New York until the
twentieth century.

25. The paragraph following the passage most probably discusses

A. harlem in more recent years
B. the Dutch influence on the lower Manhattan
C. the architectural styles of Manhattan
D. job opportunities in New York today
Passage 2
Questions 26 to 30 are based on the following passage:

Icebergs are among nature’s most spectacular creations, and yet
most people have never seen one. A vague air of mystery envelops
them. They come into being—somewhere—in far-away, frigid wa-
ters, amid thunderous noise and splashing turbulence, which in most
cases no one hears or sees. They exist only a short time and then slow-
ly waste away just as unnoticed.

Objects of sheerest beauty, they have been called. Appearing in
an endless variety of shapes, they may be dazzling white, or they may
be glassy blue, green, or purple tinted faintly or in darker hues, they
are graceful, stately, inspiring—in calm, sunlit seas.

But they are also called frightening and dangerous, and that they
are—in the night, in the fog, and in storms. Even in clear weather
one is wise to stay a safe distance away from them. Most of their bulk
is hidden below the water, so their underwater parts may extend out

far beyond the visible top. Also, they may roll over unexpectedly,
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churning the waters around them.

Icebergs are parts of glaciers that break off, drift into the water,
float about a while, and finally melt. Icebergs afloat today are made of
snowflakes that have fallen over long ages of time. They embody
snows that drifted down hundreds, or many thousands, or in some
cases maybe a million years ago. The snows fell in polar regions and on
cold mountains, where they melted only a little or not at all, and so
collected to great depths over the years and centuries.

As each year’s snow accumulation lay on the surface, evaporation
and melting caused the snowflakes slowly to lose their feathery points
and become tiny grains of ice, when new snow fell on the top of the
old, it too turned to icy grains. So blankets of snow and ice grains
mounted layer upon layer and were of such great thickness that the
weight of the upper layers compressed the lower ones. With tine and
pressure from above, many small ice grains joined and changed to larg-

er crystals, and eventually the deeper crystals merged into a solid mass
of ice.

26. Which of the following is the best title for the passage?
A. The Melting of Icebergs.
B. The Nature and Origin of Icebergs.
C. The Size and Shape of Icebergs.
D. The Dangers of Icebergs.
27. The author states that icebergs are rarely seen because they

are

A. surrounded by fog

B. hidden beneath the mountains

C. located in remote regions of the world

D. broken by waves soon after they are formed

28. According to the passage, icebergs are dangerous because they



usually melt quickly
can turn over very suddenly

may create immense snowdrifts

O owr

can cause unexpected avalanches

29. According to the passage, icebergs originate from a build-up
of

A. turbulent water
B. feathers
C. underwater pressure
D. snowflakes
30. The attitude of the author toward icebergs is one of
A. disappointment
B. humor
C. disinterest
D. wonder
Passage 3
Questions 31 to 35 are based on the following passage:

For more than three centuries readers in all countries have been
delighted by the adventures of an absurd gentleman named Don
Quixote and his squire Sancho Panza. The masterpiece of Miguel de
Cervantes, a Spanish contemporary of Shakespeare, Don Quirote tells
of a poor gentleman who tries to relive the heroic days of old by seeking
adventure in the manner of the knight-errant of medieval romance.

Don Quixote’s popularity is not caused merely by his being de-
lightfully ridiculous, a comical nuisance, an absurd figure apt to get in-
to trouble wherever he goes. Beneath his humorous surface Don
Quixote is the embodiment, even though he is also the exaggeration,
of a great idea—that life holds more than the humdrum routine of ev-
eryday affairs, that true greatness is to be found only in the spirit of
service to an ideal.

That for Don Quixote the ideal is an illusion does not detract from
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its fascination, though it does make him a pathetic figure. To attempt
the impossible for the sake of honor, to add to the store of human
greatness by risking everything without the hope of material gain, to
endure dangers and hardships because endurance itself is noble—this is
the quixotic ideal; this is the secret of Don Quixote’s universal appeal.

We must laugh at his absurdity, but we are moved by it as well;
if there is any chivalry or generosity in us, we cannot help being on his
side, however innocent his victims. We know he cannot win, but his

misguided valor excites our pity with our laughter.

31. Don Quixote dreamed of _____ .
A. becoming famous
B. reliving the heroic adventures of old
C. finding great wealth and fortune
D. having romantic adventures in medieval times

32. The character of Don Quixote personifies the idea that

greatness is found through dedication to an ideal
adventure is the only escape from routine

greatness cannot be found in daily routine

oS0 ®Ee»

everyday life has a comical side

33. Don Quixote’s dedication to his ideal causes him to disregard

A. all thoughts of material gains
B. any risk of self or possessions
C. any degree of hardships and dangers
D. all of the above
34. According to the author, the universality of Don Quixote’s

appeal lies in the
A. excitement of his adventures
B. ideal that he represents
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C. comical difficulties that he encounters
D. misguided valor of his efforts

35. The quixotic ideal can best be characterized as involving

an illusion

reliving of the past
the pursuit of danger
both A and C
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Passage 4
Questions 36 to 40 are based on the following passage:

A work of literature is a highly complex individual creation, mod-
ified by the culture of which it is a part, and by the history of that cul-
ture. The simplest lyric is so woven into the human condition through
direct reference, through allusion, and through the acceptance or revi-
sion of traditional attitudes that no critical act can ever tear it com-
pletely loose, add it up, and dispose of it as finished business. The in-
terpretation of literature, even current literature, is a dialectic process
that advances by the taking of emphatic positions, which, in turn,
prepare for still further countering.

Nor is the process purely Hegelian; a mistaken turn may cause
one to lose ground; and, besides, what critics are trying to illuminate
may once, like Hamlet, have been clearer than it will ever be again.
This is why you are never through with literature. Something is al-
ways being discovered that was never known, or was only half-known,
or misinterpreted, or simply forgotten. And yet there is always avail-
able, in varying degrees of clarity, a great body of literature which has
proven itself to sensitive readers.

A student who gets some inkling of this will understand why
many of the questions he has been asking are wrong or premature. He
may begin to see that with literature as with his own personality. He is

in the presence of the mysterious, and that the clarification of the for-
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